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BB —k No.11+55(L)~No.11+14.8(L) L=9.3m
V = ( 040 + 030 ) / 200 x 0.10

1.10
1.30
5.20

9.30

X

( 520 + 520 + 930 ) = 0.69

BEEIY1)—F No.11+14.8~No.12 L=5.2m

v = ( 520 - 012 x 400 ) X 084 Xx 0.10

= 0.40
@RS00 41—k No.11+9.5~No.11+14.8 L=4.6m
V. = 460 X 150 X 085 = 5.87
y VvV = 7.85

v o)—bk
DT /NI KB No.11+14.8~No.12 L=5.2m
T7—L:61kg/A, #HR : 52keg/ A

m2

m3

9.1

7.9
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% B H H B [Z 06 (#HB)]
LA b2 LA'L3 LA L4 LA'ILS
. ==X v =
(L&) (F&RI) (Fm A1) FHEERUHE=)
V = 520 / 150 x ( 610 + 400 x 520 )
/ 2500 = 0.37
QBERBISIT/KEE NO.11+55~No.11+14.8 L=9.3m
vV = ( 090 x 093 - 060 x 078 -
015 x 018 ) x 930 = 3.18
@AVF7Ya—h L=2.0m A=0.023m2
vV = 0.023 X 200 = 0.05
Yy V = 3.60 m3 36
OB - ALTE(T) O —k vV = 7.85 m3 7.9
FOE - ALIE(3) #maro)—k vV = 3.60 m3 3.6
LEEFT
avyy—kJavsT ek
avy—rJOovoiRY (1) 1E%:No.11+5.5(L)~No.12(L) ($ZEFRERIL=1.0m) L=13.5m
1E%:No.11+14.8(R)~No.12(R) L=5.2m
A = 050 X ( 1350 + 520 ) = 9.35 m2 9.4
FET
E¥LTT
RIEC) X RRIETEE[T D] ISR vV o= 7.00 m3 7.0
HERA01) AL X RRIETEE[ZD6(#HED] 1SR
V = 700 x 090 = 6.30 m3 6.3
HRQ2) BALT X R#IETEZE[ZD6(#EEN] IS HE
V = 13500 - 630 = 12870 m3 128.7
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# 2 F E E [£ D06 (8 ) ]
LA b2 LA'L3 LA L4 LA'ILS
) ==X v =
(L&) (F&RI) (Fm A1) FHEERUHE=)
FIZITHET
RZITKEE() No.11+14.8~No.12 L 5.20 m 5.2
RZITKERQ) No.11+5.5~No.11+14.8 L 9.30 m 9.3
Ty RMHET
$AFaL o) —k DY 21— L31) BF250%1:% L 2.00 m 2.0
#AaL ) —h D7 21— L(2) BF250B% 2% % A L 2.00 m 2.0
KEfMHT
fTHEET
Eao)—R6)-1 XAMMBEAHEFEE[ZD6@ENISE N 1.00 = 1.0
EREBEIKT
EEHIKI() No.11+3.7~No.11+55(¢if A& $200 L 3.50 m 35
EEHEK T(2) No.11+5.5~No.11+19.0 8 BFAE 200 L 13.50 m 135
BABA X AIRIETEEZE[ZF06(GHEE)]) ISR
S-30 Y, 460 m3 46
% HH B Ak %4 X RRIETEE[ZD6(#HEN] 1SR
t=10mm A 27.30 m2 27.3
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R & [ o6 (@ B ) 1

20.0
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B N 2 6t E 2 [ £ 0 6 (# B ) 1]
#a71 w2 1)—k(6)-1 1.0 A1
Hig = 10) Rig
Z2E1 g B HE ¥R g B =
avoy—k 18-8-25(BB)
V = ( 042 + 032 ) / 200 x
010 x ( 1450 + 475 ) -
065 x 042 ,/ 200 x 0.0 -
( 042 + 032 ) / 200 x
x 010 x 0.33
= 0.69 m3 0.69
B #th#4 IFA9M=10)EIE R L LE
A = ( 042 + 032 ) / 200 x
0.10 = 0.04 m2 0.04
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# =

it B & [ 207 (@ 8 ) ]

LA b2 %! LA L4 LA'ILS
BAfL =
(IF@) (#2310 (a0 HEERUVHES)
T
Bt EFT
EEEREELER() X RMIEEZE(Zz07 @B ISE A = 1.90 m2 1.9
FEBEERT
EELT
HBR2) BAL X BIIFEZ(Z076@EN] ISR
vV o= 0.70 m3 0.7
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F 5 & [ 0o 7 (@& 8 ) 1

EEER (LA (1)

& (m2) | 38 (m3) i (m) EF& (m2)
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# =

it B & [k& T (# 8B1) ]

LA b2 LA'L3 LA L4 LA'ILS
) ==X v =
(T3 (FEAI) (#m7A1) GRERUVHE)
RE&xT
RERERT
BaktR(1) X BRI IHETEZISHE
fFERAME% 6 ] HEB% =
A = 702.00 m2 702.0
Bi%kiR(2) X RIMRBRINEFAEZEISE
FERAME% 5 ] HEB% =
A = 255.00 m2 255.0
BE%ktR(3) X RRMRERIHETEEZ ISHE
fERAME% 3 =] HEB% =
A = 72.00 m2 72.0
Bi%kiR(4) X RN IHETEEZ ISHE
fFERAME% 2 ] HEB% =
A = 24.00 m2 24.0
BE%ktR(5) X RN IHETEZ ISHE
fFERAME% 1 ] HEB% =
A = 156.00 m2 156.0
Hihig 1R A = 44.00 + 56.00 + 56.00
39.00 + 64.00 ¥ 64.00
X 300 / 10000 = 0.10 ha 0.1
TB-{REEUIT
Ton50) TR ~FRE~BEERRE)
V = 060 X 060 X 045 = 0.16 m3 0.2
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# o2 & EF & [R&HxIT (#B8) ]

LA b2 LA'L3 LA L4 LA'ILS
‘ ==X v =
(T3 (FEAI) (#m7A1) B RUVHS)
TD352) RE(2EME. 3&RTR) (E%0)
V = 060 X 060 X 045 x 200 = 0.32 m3
TD5@3) B (2&frE. 3&RTR) (E%)
V = 060 X 060 X 045 x 200 = 0.32 m3
KET
KEIG) N = = =
KEI(Q) N = = =
KEIQ) N = = =
HERERE
ERE
RERHElRE W = 62.56 t =
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kR &8 T # & 5 &8 8 [ & 8 ]

7 Bk
P
B FR CES B =
Bk iR <R1>
mH# A = 6800 x 300 = 204.00 HEBE% 01 =
M2 A
& i 2
<R2>
mH# A= 5600 x 300 = 168.00 HE A% 03 =
<R3>
¥ A= 5600 x 300 = 168.00 HABH Z04 =
<R4>
mHE A= 3900 x 300 = 117.00 HE A% Z05 =
<R5:-R6>
miE A = ( 5600 + 6400 ) AR 06 =
x 300 = 360.00
<R7>
m# A= 6400 x 300 = 192.00 HEA% 07 =
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R 8% T % = & &8 &8 [ & B ]
A kR
R
A HKX B e
kR BLFETE
EAEIEE mis Ey=I=E,
6 ] 117.00 m2 =
5 ] 51.00 m2 =
3 @] 24.00 m2 =
2 ] 12.00 m2 =
1 ] 156.00 m2 =
EEktR(1) A = 11700 x 6 = 702.00 m2 702. 0
EEkR(2) A = 5100 x 5 = 255.00 m2 255.0
B8k R(3) A = 2400 x 3 = 72.00 m2 72.0
kR (4) A = 1200 x 2 = 2400 m2 24.0
B8R (5) A = 156.00 x 1 = 156.00 m2 156.0
B Sk AR E MAX
N = 36000 / ( 1524 x 3048 ) = 7750 = 7800 #&
W = 7800 x 0802 = 6256 t 62. 56
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st RBRAHEREEIZTON(F 81) ]

2
T & Al T8 HYYBTE _— BLEH
T EMEEI) 02| m3 m3/ 8 H
EEERAREAIEDA) 03| m2 m2/ 8 H
o) —rMEEYERELW) ERHI D) —k 02| m3 m3/ 8 H
HE 05| m3 m3/H =
a9y —kJaysiEYA) 1.3 m2 m2/ 8 H
Rao)—k
avyl)—k 02| m3 m3/H =
Ra o) —k
B 00| m2 m2/ 8 H
BSRERE 2040 | m2 m2/H H
SR E 2040 | m2 m2/H =
N § 1=k
TREERE HEBH
= T Bk
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ttRBBAHEEIZD2 (8 8) ]
= Y V2 = ﬁEIE*ﬂ
HER 0.5 m3 m3/H
N F ES=k
TRERE HEBE%
8 & T HE
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Bt RBHAHEREEIZT NS (#H 81) ]

T & Al T8 HYYBTE _— BLEH
o) —rMEEYERELW) EHI D) —k 01| m3 m3/H H
R 04| m3 m3/H =
a9 —kJ0yoiEY(Q2) 30| m2 m2/H H
Ra o) —k
avsy)—k 02| m3 m3/H =
BSRERE 1680 m2 m2/H H
SR E 1680 m2 m2/H H
N E ESE
TEBZRE HEBH
= T Bk
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Bt A B #

B EEIZ 04 (%W 8B1) ]

T @ & 3l BIE A%YETE A

T BpHE A1) 1.7] m3 m3/H =]

T BDHEEI(2) 6.7 m3 m3/H =]

EEERELER) 65 m2 m2/H H

S E B R HRBIERD) 41] m2 m2/H =]

av o) —MEEYEUEL() |Has 9 —hk 1.8 m3 m3/H |

R 83| m3 m3/H =

av9)—k7avyo5RYx) 17.8 | m2 m2/H =]
RO —bk

av9y—hk 09| m3 m3/H |
RO —b

B 01| m2 m2/H =]

B RERE 1680 | m2 m2/H H

BERREE 1680 | m2 m2/H H

N E E1=F =]

THB R i l=E =

a8 & T B H
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Bt A B #

B EEIZ 05 (% 81) ]

T @ & 3l B8 A%y E A
TR HERI2) 19| m3 m3/H =|
FEE BT EQ) 05| m2 m2/H =|
a9 —MEEYERIRL(2) 1.3 m3 m3/H H
#R@S) 15 m3 m3/H H
vy )—k78avyoiRYd) 84| m2 m2/H =|

R —R5)-1

av9Y—k 04| m3 m3/H =
xR B 1170 | m2 m2/ 8 H
kiR = 1170 | m2 m2/ 8 H
=
N E EHH =]
TRERE HEBE% =]
8 & T HE H
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Bt A B #

B EEIZ 06 (% 81) ]

T & Al T8 HYYBTE . BLEH

EEmEREELEENA) 91| m2 m2/H H

o) —rMEEYERELW) 79| m3 m3/H H

a9 —MMEEYMEUEL®Q) 36| m3 m3/H H

a oY=k aysiEYA) 94| m2 m2/H H

RHE(1) 70| m3 m3/H H

HE 1350 | m3 m3/H =
RIGITKER

avyl)—k 41| m3 m3/H =
RIZITKER

B 419 m2 m2/H H

$kpa D) —h ) 12— L 4.0 m m/H H

Rao)—k

avyl)—k 07| m3 m3/H =

REEHKT 170 m m/ B H

BSRERE 3600 | m2 m2/H H

SR E 3600| m2 m2/H H

N & EBH =

@R HEBH =

= =

= T B H
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#t A BB EEIZTD 7 (@& 8B ) ]

I 1 3l TS BUYBTE gl
EEmEREELEENA) 19 m2 m2/ 8 H
HE 07| m3 m3/H =|
BSRERE 1920 m2 m2/H H
SR E 1920 m2 m2/H H
IN £ EBHH H
TEBZRE HABE =|
& & T B H
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FIEMRARRABRRKEERIE
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(HEIFE)

KIRTHE

LA™ 1
HB{RE%
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I %= ® & B # x [ W #E ] No.2
LA 1 LA 2 LA I3 bA” V4 LA V5 By = s
(TERX5M) (TH) (GE3) (A1) (F18)

KEEIZE 2
+T %
fEHIT 2
T RMEA (1) m3
TRMEHI(2) m3
T RMEAI Q) m3
B LFT Fa
EEER (LA (1) m?2
EEER GEAIER (1) m2
ExZTNET 2
EEK TN m3
EEERT 2
EELT =
PRHE (1) m3
R ) AL m3
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I O®F m OB &£ B ® [ W &) o3
A LA® )2 bA* 3 bA* 4 bA" 5 oy = =
(TERXS) (TH#@) (R 51) (Ha71) (1)
R (2) BAL m3
avyy—rJoysT F
aAvyy—rIayIEY (1) m?2
e =
BISHTRAET =
KE&EET m
KB FHT =
TR T E:
kA U—H(2) =X
R U— K (5)-2 =X
RV — K (6)-2 =X
1EJKEET (1) &ERT
1EJKEET (2) G130
1E7KEET (3) B
INEHRT =
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I = %

A

wm & [ m B ]

B e
No.4
LA™ M LA™ b2 DA™ I3 LA 4 1) . o
MBI =® 1
INEHK (1) T - BEE m3 1
INEHE (2) a1 )—+ m3 1
INEHE (3) 2RERE t 0.4
RERT = 1
RERERT = 1
¥ FAE1%46E]
8%tk (6) m2 702
A EI5E
gtk (7) m2 255
{5 FA B 43 [E]
B85tk (8) m2 72
AR %2[E
B85tk (9) m2 24
ERAEI1E
ki (10) m?2 156
KBTI = 1
KETI @) =® 1
KEIG) =R 1
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Hn = it & [ W B )
No.5
LA L2 LA'L3 LA L4 LA'ILS
. B =
(T (F&51) (A1) FHBREVH=)
T
{EHIT
z01 zTn2 ZM03 Z04 05
TRMEHI) 0.04 0.6 + +
N6 D7 T =1
¥ 0.6 m3 0.6
D1 M2 D3 N4 D5
THMEHI2) + + 29 0.8
N6 07 T &5t
¥ 3.7 m3 3.7
Z01 D2 03 Z04 Zn5
THMEHIS) + + 1.7
M6 07 RE&T &5t
¥ 1.7 m3 1.7
Bt EIFT
D1 M2 D3 N4 M5
EEERELTERA) 1.7 + n
M6 D7 RE&T &5t
¥ 1.7 m2 1.7
D1 D2 03 D4 D5
EEERAREIER) 0.1 1.1 + +
M6 07 RE&T &5t
+ 1.2 m2 1.2
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M £ it xR [ B ]
No.6
LA L2 LA L3 LA IL4 LA LS
B =
(78 (FEA) (#mA0) FERUVEHE)
EEZLTNET
N1 D2 D3 D4 Zh5
EEZ LN + + 2.9 +
N6 D7 RE%T &5t
+ 2.9 m3 2.9
FEEET
EEXT
ZNA1 ZTh2 ZD3 D4 D5
FRHE(1) 0.2 0.2 + 0.2 + +
N6 D7 RExT &t
+ 0.6 m3 0.6
ZD1 D2 ZD3 D4 M5
HE) 0.7 + ¥ +
N6 D7 RE&T a8t
+ 0.7 m3 0.7
N1 D2 ZD3 D4 D5
BR2) 0.2 + + +
N6 07 REXT A&t
+ 0.2 m3 0.2
avYY—rJBavoT
ZND1 D2 Zh3 D4 ZD5
avHy)—k7ayoiRY30) + + 05 +
N6 07 RE&T a5t
+ 05 m2 05
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= B O x [ B ) No.T
LA L2 LA IL3 LA L4 LA'ILS
. BifSL =
(IFE) (FERI) (A1) FHBREVH=)
BHRET
HiGHTRETL
M1 D2 03 D4 M5
KigE LT + +
M6 07 ek T &t
33 + 3.3 m 3.3
KEMAHT
fTHERT
M1 D2 M3 04 M5
w91 —K2) 1.0 + "
M6 07 e T &5t
+ 1.0 = 1.0
M1 D2 03 N4 M5
1) —R5)-2 + + 1.0
M6 07 RE&RT =
¥ 1.0 =% 1.0
M1 M2 03 04 M5
RO 91)—k6)-2 + +
M6 07 RE&x T =t
1.0 + 1.0 =% 1.0
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= it = [ B ) No.8
LA 2 LA L3 LA V4 LA'ILS
B =
(T78) (FEA) (#mA0) FERUVEHE)
ZD1 D2 D3 D4 M5
1EsKEET (1) 1.0 + +
N6 D7 e T =X
+ 1.0 LR 1.0
ZD1 D2 D3 D4 ZM05
1E7KBET(2) 20 + +
N6 D7 RExT a5t
+ 20 T 2.0
ZN1 D2 D3 D4 ZM05
1E7KEET(3) + 1.0 +
N6 D7 e T =X
+ 1.0 =130 1.0
IMNEHR T
INEH
ZND1 D2 D3 D4 ZM05
INEHRK(T) + + 038
N6 D7 RExT =X
+ 0.8 m3 0.8
N1 D2 D3 D4 M5
IMEHK(2) + + 0.9
ZM06 N7 RE&ET aat
+ 0.9 m3 0.9
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= B O x [ B ) No.9
LA L2 LA L3 LA V4 LA LS
. BAf =
(7@ (FE5I) (#AA1) FRERUVHEHE)
D1 D2 D3 D4 D5
INEHR) + + + 0.4
N6 D7 RE&RT =
" 0.4 t 0.4
RERT
RERERT
D1 D2 D3 D4 D5
ek HR(6) + + +
D6 D7 RERT =
+ 702.0 702.0 m2 702.0
D1 D2 M3 D4 05
BEER(T) + + +
D6 D7 RERT =
+ 2550 255.0 m2 255.0
D1 D2 M3 D4 D5
EE%ktR(8) + + +
M6 D7 R T =—h
+ 72.0 72.0 m2 72.0
FND1 D2 M3 D4 D5
EE%kR(9) + + +
N6 D7 &L =
+ 24.0 24.0 m2 24.0
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= B O x [ B ) NoAO
LA L2 LA'IL3 LA V4 LA LS
. BAf =
(7@ (FE5I) (#AA1) FRERUVHEHE)
N1 D2 M3 D4 D5
EE%kR(10) + +
M6 07 RE&RT =
+ 156.0 156.0 m2 156.0
KET
D1 D2 M3 D4 D5
KEIT@) + +
N6 D7 RE&T =
+ 10 1.0 =% 10
D1 N2 M3 D4 D5
JKET(5) + +
M6 07 RERT =
+ 10 1.0 =% 10
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B 2 F OB F [ £ 01 (Hm &) ]
LA b2 LA'L3 LA L4 LA'ILS
‘ ==X v =
(58 (F&RI) m A1) FHBERUH=)
TT
EHEI T
TREHIC) V = 02 x 02 = 0.04 m3 0.04
B EIFT
EmEERAREIERD) A = 05 x 02 = 0.10 m2 0.1
EEERFRT
EETT
FRE(1) V = 09 x 02 = 0.18 m3 0.2
X TOMWFEBANTRAS
V. = 004 + 018 = 0.22
K HT
THEHRT
1EKBET (1) N = 1.00 3 1.0
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B &N % = Gt E E [ £ 01 (H B ]
#aA1 1E/KEET (1) 1. O&FR Gl
R Ly FRE
EX g ==X v] HE & gR ==X v =
avo)—k 18-8-25(BB)
vV = [ 087 x 125 - ( 052 +
077 ) / 200 x 025 }
x 0.20
= 019 m3 0.19
Bl oA A= { 087 x 125 - ( 052 +
077 ) / 200 x 025 }
x 200 + 025 x 1414 x
020 + 125 x 020
= 217 m2 217
HEEIE A = 087 x 020 = 0.17 m2 0.17
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# =

it B F [ o2(m &) ]

LA b2 LA'L3 LA L4 LA'ILS
) =R v =
(T7®) (F230) A0 HBERUVHS)
TT
EHEI T
TREHIC) X BRI EE(TD2(MH) ISR vV = 0.60 m3 0.60
B EIFT
SREERETE) X BRI EE(ZD2(HE) ] ISHE A = 1.70 m2 1.7
EEERREIERA) X B EE(ZzD2(HE) ] ISHE A = 1.10 m2 1.1
FEERT
LT
FRHE(T) X BRIETEZE(Zz02(MHE)])ISHE vV = 0.20 m3 0.2
HER) A
V. = ( 060 + 020 ) x 090 = 0.72 m3 0.7
HRQ2) BAL X RRIETEE[z02(ME) ISR
V = 09 - 072 = 0.18 m3 0.2
KEMHT
fTHEET
w_aAI1)—R2) X ERENSE N = 1.00 = 1.0
1E/KEET(2) N = 2.00 #HAT 2.0
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it E E [0 2 (W B ) ]

izF

T RbRAEI (1)

FRHE (1)

# R

EEER (LA (1)

EEER FEEIED (1)

ErE R (m2)

358 (m3)

ErE R (m2)

358 (m3)

ErE R (m2)

358 (m3)

i (m)

g (m2)

i (m)

miE (m2)
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B &N % = Gt E E [ £ 0 2 (H H ]
#aA1 1E/KEET (2) 1. O&FR Gl
R =1 FRE
e g ==X v] H= & ¥ g ==Xivs H=
av9)—k 18-8-25(BB)
V = ( 060 x 125 - 050 x
025 / 200 ) x 020
= 014 m3 0.14
Eidp A = ( 060 x 125 - 050 x
025 / 200 ) x 200 +
125 x 0.20
= 163 m2 1.63
HEEIE A = 060 x 020 = 0.12 m2 0.12
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BERNH=ETEEIZTn2 (Hh &) ]
Eil ‘a1 —R2) 1.0 A
R =10 R
B g =X vd H= e 1 gK B =
avo)—k = 072 x 390 x 200 x 010

+ ( 030 + 050 ) x 050

x 010 = 060 m3 0.60
Einp oA = ( 025 + 420 + 025 + 440

+ 050 ) x 0.10
= 096 m2 0.96
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B 2 F B F [ £ 03 (m &) ]
LA b2 LA'L3 LA L4 LA'ILS
) =R v =
(T7®) (F2310) A1) B RUVHS)
EEEFT
EELT
RIEQ) No.2+4.5~No.2+4.7
V = 09 x 02 = 0.18 m3 0.2
X ZTORHBMANTRAS
vV o= 0.18
KEEfHHET
fTHEET
1E7KBET(3) N = 1.00 AT 1.0
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B &N % = St E E [ £ 0 3 (H B ]
#aA1 1E7KEET (3) 1. 0B FR Gl
R Ly i
A g ==X v] HE & ¥ gR BifsL =
avoy)—k 18-8-25(BB)
vV = [ 089 x 122 - ( 053 +
079 ) / 200 x 022 }
x 0.20
= 019 m3 0.19
pivy o A= { 08 x 122 - ( 053 +
079 ) / 200 x 022 }
x 200 + 022 x 1.562 X
020 + 122 x 020
= 219 m2 2.19
HEEIE A = 08 x 020 = 0.8 m2 0.18
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B 2 F OB F [ £ 04 (h BE) ]
LA b2 LA'L3 LA L4 LA'ILS
‘ ==X v =
(T3 (FEAI) (#m7A1) HBERUHS)
TT
EHEI T
THMEHI2) X RRIETEE[Z04FHERD] 1SR T
V = 950 x 030 = 2.85 m3 29
V(T MIBT
¥R T e = Ja ) vV = 2.85 m3 29
TEEFT
avy)—rJovs T
avo)—r7ovosRyQ) 1E%:No.5+16.1(L)~No.5+17.1(L)
A = 050 x 100 = 0.50 m2 0.5
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B 2 F B F [£ o5 (m &) ]
LA'IL2 LA L3 LA L4 LA LS
) B =
(ILFE) (FEAI) (#m7A1) GRERUHE)
TT
EHEI T
THMEHI2) X BRI EE[(Z0O5FEEN)ISHE #+T
V = 27 x 03 = 0.81 m3 0.8
THEHI) X AR EE[TD4(HE)) ISR
vV = 1.70 XZ D5 (BN ~NiR A m3 1.7
EEERT
avy)—rJovs T
arvy)—kJaysiEyQ) 2E%:No.7+13.5~No.7+16.0
A = 050 X 200 x 250 = 2.50 m2 25
KEEHHET
fTHERT
sRa 1) —k(5)-2 HAMIBEHEFEE[ZFOS(ME)ISB N = 1.00 = 1.0
INEHRT
INEHE
INVERK(D) [X8-BBE]
TEAHEHI) vV = 0.81 m3 0.8
IINVEHK(2) =2 B
BRaL 91—k vV = 0.88 m3 0.9
INVERK(3) [2R&E ] BEJ0OvY 150kg/m2&LY
W = 250 x 015 = 0.38 t 04
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aryl)—k 18-8-25(BB)

V = ( 040 + 030 ) / 200 x
010 x 620 + 080 x 0.10
x 8.30

0.88 m3 0.88

e
®
>
I

( 040 + 370 + 830 +
080 ) x 0.10
1.32 m2 1.32
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#aA1 a1 —k(6)-2 1.0 Gl
R Ly i
A g ==Riv HE & ¥ gR BifsL H=
avoy)—k 18-8-25(BB)
V = ( 077 + 125 ) / 200 x

010 x 150 + ( 150 +

170 ) / 200 x 0.0 x 180

+ (145 + 270 ) / 200 x

010 X 460

= 139 m3 1.39

B A =( 077 + 080 + 090 +

220 ) x 010 = 047 m2 0.47
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BET
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KBELT No.13+9.2~No.13+12.5 L 3.30 m 3.3
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B 2 F OB T [REEI (H HE) ]
LA'IL2 LA L3 LA L4 LA LS
\ B =
(IF@) (F&RI) (R A FHBERUH=)
e T
SRERT
Ed%tk(6) X AMIMRBRINEFEEISE
fERAE% 6 ] HEB%
A = 702.00 m2 702.0
BEkiR(7) X AMIMRBRINEFAEEISE
fERAE% 5 ] HEBH
A = 255.00 m2 255.0
BE%ktR(8) X AMIMRBRINEFEEISE
fERAE% 3 ] HEB%
A = 72.00 m2 72.0
BE%kiR(9) X AIMRBRINEFAEEISE
fERAE% 2 E] HEB%
A = 24.00 m2 24.0
BE%ktR(10) X AIMRBRINEFAEEISE
EAE% 1 E] HEB%
A = 156.00 m2 156.0
KETL
KEBT4) N = =| = 1.0
KETI(5) N = =| = 1.0
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kR &8 T #% & & &8 & [ # ]

7 Bk
P
B FR CES B =
Bk iR <R1>
mH# A = 6800 x 300 = 204.00 HEBE% 01 =
M2 A
& i 2
<R2>
mH# A= 5600 x 300 = 168.00 HE A% 03 =
<R3>
¥ A= 5600 x 300 = 168.00 HABH Z04 =
<R4>
mHE A= 3900 x 300 = 117.00 HE A% Z05 =
<R5:-R6>
miE A = ( 5600 + 6400 ) AR 06 =
x 300 = 360.00
<R7>
m# A= 6400 x 300 = 192.00 HEA% 07 =
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R 8% T % = & &8 &8 [ 7 #H ]
A kR
R
A HKX B e
kR BLFETE
EAEIEE mis Ey=I=E,
6 ] 117.00 m2 =]
5 ] 51.00 m2 5]
3 @] 24.00 m2 =]
2 ] 12.00 m2 A
1 ] 156.00 m2 A
EEktR(1) A = 11700 x 6 = 702.00 m2 702. 0
EEkR(2) A = 5100 x 5 = 255.00 m2 255.0
B8k R(3) A = 2400 x 3 = 72.00 m2 72.0
kR (4) A = 1200 x 2 = 2400 m2 24.0
B8R (5) A = 15600 x 1 = 156.00 m2 156.0
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